Lesson 8

Know your endings 

1) Present Passive Ind.: infinitive=)
2) Aorist Passive Ind (6th Principle part) 

3) Sixth p.p. recognition points: augment (only w/ indicative), no sigma), and  for the connecting vowel.
KNOW that means “by” (followed by genitive) and that it expresses personal agency.  Since the passive has the subject being acted upon, shows who is acting upon the subject. 

Vocab

Do exercises1, 4, 8, and #4 pg. 52

